Year 2 homework 14.09.23
Return by 21.09.23

Number bonds

1+ =10 1+ =20

2 + =10

3+__=10 3+__=20

4 + =10 4 + =20

5+__=10 5+___ =20

6+__=10 6+__ =20

9+__=10 9+__=20

10+__ =10 10+__ =20

Multiplication
1x2-= 1x5-= 1x10-=
2x2-= 2xH-= 2x10 =
3x2:= 3x5= 3x10=
4x2-= 4x5 - 4 x 10 = Wha’f time is the clock
showing?
O x 2= 5x5 = 5 x 10 =
Subtraction Continue the pattern
10-1=__ 20-1=__ 11,12, 13, 14, __ ,
6,7,8,9,10 __,
0-2-_ 20-27° 2,468, 10
10-3=__ 20-3=__ 5,10, 15, 20, 25
10, 20, 30, 40, 50
10-4=__ 20-4=__ S —
10"'52_ 20 - 5:_




